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Note : All questions are compulsory. Marks 

allotted for each question are indicated 

against it. Draw well-labelled diagrams 

wherever necessary. 

1. Briefly answer any five of the following 

questions :  5×2=10 

 (a) Define rocks. 

 (b) Differentiate between sediment and 

 sedimentary rock. 

 (c) What is degree of crystallization ? 

 (d) What is colour index ? 

 (e) What is assimilation ? 
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 (f) Mention the significance of sediment 

 sorting. 

 (g) Differentiate between matrix and 

 cement. 

 (h) Define metamorphism. 

2. Write short notes on any four of the 

following :  4×5=20 

 (a) Classification of metamorphic rocks 

 (b) Contact metamorphism 

 (c) Types of non-clastic rocks 

 (d) Grain size parameters 

 (e) Rock cycle 

 (f) Bowen's reaction series 

3. Answer any one of the following : 10 

 (a) Discuss in detail the physical properties 

 and composition of magma. 

Or 

 (b) Describe the megascopic and 

 microscopic characters of rhyolite and 

 granite. 
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4. (a) (i) Give an account of the common 

processes involved in magmatic 

differentiation. 5 

  (ii) Discuss the types of sediment load. 

  5 

Or 

 (b) (i) Describe any five primary 

structures found in sedimentary 

rocks. 5 

  (ii) Describe any five types of textures 

found in igneous rocks. 5 
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 BGYCT–135 

foKku Lukrd (lkekU;) (ch- ,l-&lh- th-) 

l=kar ijh{kk  

twu] 2025 

ch-th-okbZ-lh-Vh-&135 % 'kSy foKku 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % lHkh iz'u vfuok;Z gSaA izR;sd ds vad mlds lkeus fn, 

x;s gSaA tgk¡ vko';d gks] lqukekafdr vkjs[k cukb,A 

1- fuEufyf[kr esa ls fdUgha ik¡p iz'uksa ds mÙkj la{ksi esa 

nhft, %   5×2=10 

 (d) 'kSy dks ifjHkkf"kr dhft,A 

 ([k) volkn rFkk volknh 'kSy esa foHksn dhft,A 

 (x) fØLVyhdj.k ds Lrj dks ifjHkkf"kr dhft,A 

 (?k) jax lwpdkad D;k gS\ 

 (³) Lokaxhdj.k D;k gS\ 
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 (p) volkn izoj.k dk egRo fyf[k,A 

 (N) eSfVªDl vkSj lhesaV esa foHksn dhft,A 

 (t) dk;karj.k dks ifjHkkf"kr dhft,A 

2- fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡  

fyf[k, %   4×5=20 

 (d) dk;karfjr 'kSyksa dk oxhZdj.k 

 ([k) laLi'kZ dk;karj.k 

 (x) v[k.Mt 'kSyksa ds izdkj 

 (?k) d.k vkdkj izkpy 

 (³) 'kSy pØ 

 (p) ckWosu vfHkfØ;k Ükà[kyk  

3- fuEufyf[kr esa ls fdlh ,d dk mÙkj nhft, % 10 

 (d) eSXek ds HkkSfrd xq.kksa rFkk la?kVu dh foLrkjiwoZd 

 foospuk dhft,A 

vFkok 

 ([k) jk;ksykbV vkSj xzsukbV ds LFkwyn'khZ rFkk lw{en'khZ 

 y{k.kksa dk o.kZu dhft,A 
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4- (d) (i) eSXeh; foHksnu esa 'kkfey lkekU; izfØ;kvksa  

   dk o.kZu dhft,A 5 

  (ii) volkn Hkkj ds izdkjksa dh ppkZ dhft,A 5 

vFkok 

 ([k) (i) volknh 'kSyksa esa ik;h tkus okyh fdUgha ik¡p  

   izkFkfed lajpukvksa dk o.kZu dhft,A 5 

  (ii) vkXus; 'kSyksa esa ik;s tkus okys fdUgha ik¡p  

   izdkj ds xBuksa dh ppkZ dhft,A 5 

× × × × × 

 

 

 

 

 

 

 

 

 


